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QUESTION 1

What is a benefit of using Cisco Tetration?

A. It collects telemetry data from servers and then uses software sensors to analyze flow information.

B. It collects near-real time data from servers and inventories the software packages that exist on servers.
C. It collects policy compliance data and process details.

D. It collects enforcement data from servers and collects interpacket variation.

Correct Answer: A

QUESTION 2

A network engineer must SPAN only the ingress traffic of a Cisco MDS 9000 series switch from interface fc 1/23 to
interface fc 1/24.

Which two configuration must be applied to complete this task? (Choose two)

interface fc 1/24
-— Qutput cmitted --
no shutdown

span session 1

-- putput omitted --

destination interface fc 1/24

A. MDS-A(config-span)# source interface fc 1/23
B. MDS-A(config-if)# switchport mode SD

C. MDS-A(config-span)# source interface fc 1/23 rx
D. MDS-A(config-span)# source interface fc 1/23 tx
E. MDS-A(config-if)# switchport mode TL

Correct Answer: BC

QUESTION 3

An engineer is automating a Cisco Nexus 9000 Series Switch using the NX-OS API. Which code snippet creates a local
user called "tacuser" with an expiration date of 22 November?
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® A
) POST http:/I10.91.12.14/api/mo/sys/userext.json

{

"aaalUserEp": {
“"children": [
{
"aaaUser": {
"attributes™: {
"allowExpired”: "no",
"expiration": "2021-11-22T7T00:00:00.000+00:00",
"expires": "yes",
“name"; "tacuser”,
"pwd": "AKw47PS3:g4M410:Fs01",
"pwdEncryptType": "clear"
}
}
}
]
}
}

) GET http:/110.12.14.91/api/mo/sys/userext/user-tacuser.json

{

{
"aaaUserEp": {

"attributes": {
"childAction": "add",
"dn": "sys/userext”,
"lcOwn™": "local",
"modTs": "2021-11-22T00:00:00.000+00:00",
"pwdSecureMode": "yes",
"pwdStrengthCheck"”: "no",
“status"”: ",
"uid"™: "0"
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) HEAD http://10.14.91.12/api/policymgr/mo/uni/userext.json

{
"aaaUser": {

"name": "tacuser”,

“phone": ",

prdll:lng?stmDAquL"'

llaxplralr: "}“BS".

"aaaUserDomain": {
"description™: ",
‘I‘InamB“: Ila'!lll
"rn":"userdomain-all"

}
}
)
© D O PUT http://10.91.14.12/api/policymgr/moluni/
{
“"aaaUser": {
"email": "tacuser@cisco.com",
"name": "tacuser”,
“"createdAt": "2020-09-11T00:00:00.090210Z",
“"authorizations": {
“authorizedZone": "VDC1",
"expiresAt": "2021-11-22T00:00:00.000+00:00",
"authorizedByName": "OPS",
"authorizedByEmail": "nps@hompany.cnm“
}
}
}
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A
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QUESTION 4
DRAG DROP

Drag and drop the storage technologies from the left onto the correct descriptions on the right.

Select and Place:

NFSv2 uses client machine authentication

Kerberos uses users authentication

NFSv4 authenticates clients and servers in NFSv4

RAT authenticates clients to corporate
IUS directory systems

Correct Answer:

NFSv2

NFSv4

Kerberos

RADIUS

Application The release of NFSv4 brought a revolution to authentication and security to NFS exports. NFSv4 mandates
the implementation of the RPCSEC_GSS kernel module, the Kerberos version 5 GSS-API mechanism, SPKM-3, and
LIPKEY. With NFSv4, the mandatory security mechanisms are oriented towards authenticating individual users, and not
client machines as used in NFSv2 and NFSv3. https://web.mit.edu/rhel-doc/5/RHEL-5-manual/Deployment_Guide-en-
US/s1-nfs-security.html

QUESTION 5

Which two protocols are used by the NFSv4 protocol? (Choose two.)

A. FCP
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B. TCP

C. UDP

D. Ethernet
E. IP

Correct Answer: BE
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